June 04 P1 Q120

12 OR

x | 2] 4 6 | 810
y | 98 194374 740 144.4
lgy | 0.99 129 157 1.87 2.16

(i) Finds values of Igy M1 Knows what to do.

Don't penalise incorrect scale.
Draws graph accurately. A1l Points correct to 2z small square.
[2]

(ii) Igy = IgA + xigb B1 Anywhere — even if no graph
m=Iigb—b=1.4 (£ 0.05) M1 A1 Gradient measured + equated to Igb.
c=IgA—-A=50(x0.2) M1 A1 Intercept measured + equated to IgA.

[5]

(iii) Igy = xIg2 B1 Even if no line — give if line correct.
i.e Straight line Y = 0.301x M1 Must be a line.
x=45(x0.2) A1 To this accuracy.

(3]
Use of simultaneous eqgns in part (ii) gets
B1 only, unless both points used are on
his line, in which case allow marks if to
correct accuracy.

June 04 P2Q 10

10 [10] (i) mge=3/5 Equationof ADis y—-4 = 3/5(x+ 2) B1 M1 A1
Mac = — Ya Equationof CDis y—-2 = 4(x-6) B1 M1 A1
(ii) Solve x=8y=10 M1 A1

(iii) Length of AC = Lengthof CD = /68 M1 A1
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Cis (-3 %;,624) butaccept (-3.32, 6.64), (-3.34, 6.68)

In essence, scheme is 3 marks for each of A, B, C. Possible to find B
before A e.g.

AOX =tan '3=71565"B1 OB =+250/sin71.565" M1=>16§A1

Gradient of AB is —% B1 Solve y—16§ = —%x with y = 3x M1 =
(5,15) A1

9 [71{()) Y=logy, X=x m=logb,c=loga B1 DB1
(i) Y=logy, X=log x m=k,c=logA B1 DB1
(i) Y=1ly, X=1x {“"” MIAL Al

m=-9/p
[Other valid alternatives acceptable
Yoy %ox % %
Y X
X /x y /y X ){,
1 -P
ma Jor N T
P -q 1
c P Py a Y Jg]
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1 [10]
y=3x
yoz;- D
A
c
o %x
. B1
Let A be (x, y)i.e. (x, 3x)
Length of OA = Vx%+9x? =250 = x=5, Ais (5, 15) M1 A1
(yx2 +y? =250 enough for M1)
Gradient of AB is —% B1
EquationofABisy—15=—% (x—5):Bis(0,16%) M1 A1
AND substitute x = 0 for M1 Decimals 16.6 or 16.7, — 1 p.a.
Gradient of BC is 3 B1
Equation of BCis y = 3x + 16E
3 M1
Meets y + 2x = 0 when —2x = 3x + 16g :>x=—31,
3 3 M1
A1
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s -
Igx 1 2 3 4 For part (ii) — use of sim eqgns is ok
lgy 3.28 2.40 1.49 0.60 if points used are on line, not from

table.
(i) Knows what to do. Pts within % M1 A2,1 | Knows what to do.
square. [3] | Accuracy within 2 square.
(ii) Gradient=tn n=-0.88t0o-092 | B1A1 B1 even if just stated without graph.
log k = y-intercept k=14 000 to 16 000 | B1 A1 B1 even if just stated without graph.
[4]

June 05 P2 Q12 E

12 DC = BD [or D (5, 6) midpoint of C (x, y), B(8, 8)] = Cis (2, 4) M1 A1
- Mpe = Myc = 7/4 Mce =—1/Mac=—4/7 B1vV B1Y
Equation of DE is y—6 = 7/4 (x - 5) A1Y
Equationof CEis y—4 =—-4/7 (x-2) M1 (either)

A1V

SolveforE = x=34, y=3.2 M1 A1

Complete method for entire area — 15.6

M1 A1 [11]




Nov 05 P1 Q10

10. \ (i) Pythagoras — M1 Al | Or by vectors
2 6 o AB=N40. BC=V40 2]
,:‘ (ii) mof AC = '%. Bl
' mol BD=-2 M1 Use of mym;=—1
eqn BD — p+2x=20 | M1 Not necessary to have eqn since y=0
~ D(10,0) Al may be used.
[4]
or M(4,12) <+ m=-2 Finds M—+m of <2 equivalent to BIM1.
0
(iii) Area of ABC : Area of ACD
BM : MD Mi Realises that only heights are needed.
=v20:VI80=1:3 M1 Al | Pythagoras —any form ok for A mark.
131
(or finds each area by “matrix™ or Yabh) M1 ABC (40) M1 ACD (120) Al 1:3.
Nov 05 P1 Q 12E
1I2EITHER T - *
x (15| 2 [25] 3 [ 35
y | 7313512013 09
0.1810.30 040 | 0.48 1 0.54
F":&gg 086 | 0.54 1030 0.11 T -0.05 |

(i) Draws graph of lgy against |gy.
Accuracy of points and line.

n= 24510 2.60
a= 19510210

(in)

| ({ii) y=x* —lgy= lflg.x.
] — Line of gradient 2.

¥=x* intersects yx"=a where the
lines meet. — x=1.901t0 2.00

{or solves y = x* with yx =20 alg)

M1
A2,1.0

13]
M1 Al
M1 Al

(4]
Al

Al
131

Knows whal 1o do.
Within 4 square.

Needs m = =n for M. Co for +ve only.
Needs lga = intercept on y axis.

Allow M1 for statement in log form.
Reasonable attempt at line of m =2
through (0.0).

Co.

_ — — —




